

Distribution:	Address:	301 Jackson Street Richmond,Texas
☑ FBC Engineering	Phone:	77469 281-633-7500
☑ FBC Judge		www.FortBendCountyTx.gov
☑ FBC Purchasing	Web Site.	www.i oribendodany ixigov
☑ Contractor		
☑ Consultant		
PROJECT:	CHANGE ORDI	ER NUMBER 4
Brandt (17310)	DATE	
CONTRACTOR:		MBER 17310
Allgood Construction	BID NUMBER	23-049
1702 Settegast Ranch, Richmond, TX 77406	CONTRACT DA	ATE 06/13/2023
The contract is changed as follows:	FBC PURCHAS	SE ORDER NO 227405
Final adjustment		
Not valid until signed by Fort Bend County.		
	The Orig	ginal ( <b>Contract Sum</b> ) \$8,914,370.67
Net change by	previously autho	rized Change Orders \$ 552,537.42
The (Contract	Sum) Prior to thi	is Change Order was \$ 9,466,908.09
The (Contract Sum) will be ☐ increased or ☑	decreased or	□ unchanged by
	this Change O	rder in the amount of \$ -216,467.82
The new (Contract Sun	<b>n</b> ) including this	Change Order will be \$ 9,250,440.27
The Contract Time will be ☑ increased or □	decreased or	□ unchanged by 99 Days
The Contract End Date as of this Change Order therefore is	☑ changed or	□ unchanged to 11/26/2024
Auth	horized:	
Honorable I 301 Jackso		
By: LOO (Signal	ature)	
DATE: Ma	ay 27, 2025	



Project Code	17310	Report Run Date	05/08/2025
Project Name	Brandt (17310)	Change Order Date	12/20/2024
Contract Number	CN-2	Original Contract Amount	8,914,370.67
Contractor	Allgood Construction	<b>Current Contract Amount</b>	9,466,908.09
Change Order Number	4	Net Change This Order	-216,467.82
Short Description	Final adjustment	Contract Amount After Change	9,250,440.27

Container	Line No.	Item Description	Unit	Quantity	Unit Price in \$	Amount in \$		
No Container	No Conta	iner	•	•				
	149	9" Curb	LF	-475.0000	7.65	-3,633.75		
	170	Metal Beam Guard Fence (Metal Anchored Post)	LF	60.0000	96.05	5,763.00		
	171	replacing W11-2 Pedestrian Signs & R1-2 Yield Signs (plaque only) with 36" Size	LS	1.0000	7,539.65	7,539.65		
	172	Mobilizing Machinery for Slope Paving Placement per Punch List Request	EA	1.0000	1,000.00	1,000.00		
	168	Channel Excavation	CY	36203.0000	15.00	543,045.00		
	169	Adjust Existing Ty A Inlet to Grade	LS	1.0000	1,000.00	1,000.00		
	158	Install 6" sleeves at round abouts per sheets PP15 & PP17.	LF	-6.0000	35.00	-210.00		
	Container Total							
Default	Default							
	15	Cement Stabilized Sand Bendding and Backfill Material	CY	-40.0000	62.76	-2,510.40		
	16	Metal Beam Guard Fence (Tim Post)	LF	-438.0000	51.60	-22,600.80		
	17	Reinforce Concrete Driveway	SY	57.2900	90.00	5,156.10		
	10	Lime Stabilized Subgrade (8" Depth)	SY	457.2800	3.90	1,783.39		
	100	CONDT (PVC) (SCH 40) (3") (BORE)	LF	-17.0000	26.40	-448.80		
	102	CONDT (PVC) (SCH 40) (4") (BORE)	LF	-7.0000	34.80	-243.60		
	103	2/C #14 (STRANDED) (MSA 20-1)	LF	75.0000	1.80	135.00		
	104	4/C #14 (STRANDED) (MSA 20-1)	LF	75.0000	2.58	193.50		
	105	7/C #14 (STRANDED) (MSA 20-1)	LF	5.0000	3.18	15.90		
	106	1/C #8 BARE	LF	250.0000	2.10	525.00		
	107	1/C #4 XHHW INSULATED	LF	60.0000	3.60	216.00		
	108	4/C #12 AWG (TRAY CABLE)	LF	85.0000	3.54	300.90		
	11	Type A, Hydrated Lime (Estimated at 6% by dry weight)	TON	-123.6700	364.80	-45,114.82		
	12	HMAC Base Course (8")(Black Base)	TON	-31.6700	180.00	-5,700.60		
	13	Hot Mix-Hot Laid Asphaltic Concrete Surface Course (2")	TON	73.7400	192.00	14,158.08		
	131	Sodding for Erosion Control (Various Widths)	SY	489.0200	5.70	2,787.41		
	132	Hydro-Mulch Seeding	AC	-5.3400	3,120.00	-16,660.80		



Container	Line No.	Item Description	Unit	Quantity	Unit Price in \$	Amount in \$
Default	Default			•		
	133	Reinforced Filter Fabric Barrier (60% of unit cost for furnish and installation and 40% of unit cost for removal)	LF	-600.0000	2.10	-1,260.00
	134	Inlet Protection Barrier (Stage 1, With Fiber Rolls; 60% of unit cost for furnish and installation, and 40% of unit cost for removal)	EA	-1.0000	90.00	-90.00
	137	Inlet Protection Barrier (For Stage II Inlets, Gravel Bags; 60% of unit cost for furnish and installation, and 40% of unit cost removal)	EA	-1.0000	54.00	-54.0
	138	Rock Filter Dam (Type 1; 60% of unit cost for furnish and installation, and 40% of unit cost for removal)	LF	-470.0000	90.00	-42,300.0
	139	SWPPP Inspection and Maintenance	MONTHS	6.0000	7,200.00	43,200.0
	140	Concrete Pavement (8") (High Strength)	SY	-120.0000	84.00	-10,080.0
	141	Construction Safety Fence	LF	-85.0000	1.50	-127.5
	142	Off-Duty Uniformed Peace Office - As Directed by Engineer	HRS	-320.0000	534.00	-170,880.0
	143	Well Point System(s), When Approved by Engineer, Complete in Place	LF	-2000.0000	1.20	-2,400.0
	18	5-Foot Concrete Sidewalk	SY	-1.5300	59.40	-90.8
	19	6-Foot Concrete Crosswalk	SY	-64.0000	71.40	-4,569.6
	20	6" Concrete Curb	LF	-98.0000	5.10	-499.8
	23	Wheel Chair Ramp Type 7	EA	3.0000	1,500.00	4,500.0
	24	Concrete Safety Barrier (F-Shape) (Type I)	LF	-60.0000	96.00	-5,760.0
	25	Single Guardrail Terminal (Terminal Anchor Section)	EA	-1.0000	3,900.00	-3,900.0
	3	Removing Concrete Pavment	SY	237.4900	12.00	2,849.8
	33	Bridge Sidewalk	SF	-123.0000	16.20	-1,992.6
	41	CL B Conc (Flume)	CY	-3.2200	756.00	-2,434.3
	46	Trench Safety System (5' to 10')	LF	-2654.0000	1.20	-3,184.8
	47	Reinforced Concrete Pipe, C76, Class III, Rubber Gasket (18")	LF	-29.0000	67.55	-1,958.9
	5	Borrow	CY	-36203.0000	17.40	-629,932.2
	54	Type A Inlet	EA	3.0000	4,020.00	12,060.0
	57	Type C-Mod Inlet	EA	-1.0000	6,000.00	-6,000.0
	59	6'x3' RCBC	LF	10.0000	651.12	6,511.2
	6	Remove and Dispose of Existing Concrete or Metal Pipe (All Sizes)	LF	-24.0000	12.00	-288.0
	62	CL A CONC (CHANNEL LINING)	CY	20.6300	900.00	18,567.0
	69	safety End Treatment (TY II) (18 in) (RCP) (6:1) (P)	EA	-4.0000	1,200.00	-4,800.0
	70	safety End Treatment (TY II) (24 in) (RCP) (3:1) (P)	EA	-2.0000	1,800.00	-3,600.0
	71	safety End Treatment (TY II) (24 in) (RCP) (6:1) (P)	EA	4.0000	2,160.00	8,640.0
	73	Reinforced Concrete Slope Paving (5")	SY	661.3200	108.00	71,422.5
	74	Riprap (Gradation No. 2) (18")	SY	65.0000	96.00	6,240.0



Container	Line No.	Item Description	Unit	Quantity	Unit Price in \$	Amount in \$
Default	Default			•		
	75	Work Zone Pavement Markings 4" White/Solid (Removable) Furnished -Applied & Removed	LF	1697.0000	0.96	1,629.1
	76	Work Zone Pavement Markings 4" Yellow/Solid (Removable) Furnished-Applied & Removed	LF	6036.0000	1.02	6,156.72
	77	Traffic Control - Barricades, Barriers, Barrels, Cones, and Signing	MONTHS	8.0000	2,100.00	16,800.0
	78	Temporary Residential Driveways - Furnish-Install & Remove	EA	-7.0000	1,800.00	-12,600.0
	79	Temporary Asphalt Paving	SY	782.8700	90.00	70,458.3
	8	Removing and Disposing of Existing Asphaltic Surface and Base	SY	44.9600	3.00	134.8
	80	Aluminum Signs (Ground Mounted)- Furnish & Install	EA	5.0000	714.00	3,570.0
	81	Reflectorized Pavement Markings Type I (Thermoplastic) White Yield Triangle - Furnish & Applied	EA	-85.0000	27.00	-2,295.0
	82	Reflectorized Pavement Markings Type I (Thermoplastic) 24" Yellow/Solid - Furnish & Applied	LF	-89.0000	7.56	-672.8
	83	Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Solid - Furnish & Applied	LF	-2535.0000	0.60	-1,521.0
	84	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied	LF	86.0000	2.40	206.4
	85	Reflectorized Pavement Markings Type I (Thermoplastic) 24" White/Solid - Furnish & Applied	LF	197.0000	7.56	1,489.3
	86	Reflectorized Pavement Markings Type I (Thermoplastic) 12" White/Solid - Furnish & Applied	LF	-204.0000	3.60	-734.4
	87	Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Dashed - Furnish & Applied	LF	1646.0000	0.66	1,086.3
	88	Reflectorized Pavement Markings Type I (Thermoplastic) 4" Yellow/Doble/Solid - Furnish & Applied	LF	1437.0000	1.02	1,465.7
	89	Reflectorized Pavement Markings Type I (Thermoplastic) (W) Word "ONLY" - Furnish & Applied	EA	9.0000	240.00	2,160.0
	90	Reflectorized Pavement Markings Type I (Thermoplastic)(W) Single Arrow-LEFT - Furnish & Applied	EA	3.0000	192.00	576.0
	91	Reflectorized Pavement Markings Type I (Thermoplastic)(W) Single Arrow-RIGHT - Furnish & Applied	EA	-2.0000	192.00	-384.0
	92	Reflectorized Pavement Markings Type( I-C ) 4" 1-Way White - Furnish & Applied	EA	-2.0000	5.28	-10.5
	93	Reflectorized Pavement Markings Type( II-A-A ) 4" 2-Way Yellow - Furnish & Applied	EA	-287.0000	5.28	-1,515.3
	97	CONDT (PVC) (SCH 40) (2")	LF	-93.0000	14.22	-1,322.4
	98	CONDT (PVC) (SCH 40) (2") (BORE)	LF	-3.0000	18.00	-54.0
	99	CONDT (PVC) (SCH 40) (3")	LF	-71.0000	21.60	-1,533.6
	15					
	159	10" Crosswalk Concrete with Red Brick Stamp Finish	SY	-103.0000	134.58	-13,861.7
	157	10" Pavement Concrete with Red Brick Stamp Finish	SY	-326.0000	153.31	-49,979.0



Cor	ntainer	Line No.	Item Description	Unit	Quantity	Unit Price in \$	Amount in \$
Def	fault	Container Total					-770,971.72
		Grand Tot	al				-216,467.82

### **CERTIFICATE OF INTERESTED PARTIES**

FORM **1295** 

1 of 1

					1011			
	Complete Nos. 1 - 4 and 6 if there are interested parties. Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties.		CE	OFFICE USE ONLY CERTIFICATION OF FILING				
1	Name of business entity filing form, and the city, state and count of business.		Certificate Number: 2025-1303815					
	Allgood Construction Company, Inc.		2020	5-1303015				
	Richmond, TX United States		Date	Filed:				
2	Name of governmental entity or state agency that is a party to the	ne contract for which the form is		05/01/2025				
-	being filed.	e contract for which the form to		_, -				
	Fort Bend County			Date Acknowledged: 05/27/2025				
3	Provide the identification number used by the governmental enti- description of the services, goods, or other property to be provide		tify the c	ontract, and prov	ride a			
	B23-049							
	Brandt Road from Precinct Line Road to Mason Road (Chang	ge Order No. 4)						
4				Nature of				
-	Name of Interested Party	City, State, Country (place of bus	siness)	(check ap				
				Controlling	Intermediary			
	-							
	-							
				<u>                                       </u>				
5	Check only if there is NO Interested Party.							
6	UNSWORN DECLARATION							
	My name is	My name is, and my date of						
	My address is(street)	(city)	,	(zip code)	, (country)			
	• •		(Siaic)	(Zip GGG)	(country)			
	I declare under penalty of perjury that the foregoing is true and correct							
	Executed inCounty	.y, State of, on the	ne					
				(month)	(year)			
		contractin	 ng business entity					
ı	Signature of authorized agent of contracting business entity							